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Question Number : 1 Question Id : 7155053772 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

2

20
The range of f(x)=4sin '( : ]Jis
x°+

Options :

71550511991, [0: 7]

71550511992, [0. )

s
L

71550511993, [0:

[
=

71550511994 [0.

Question Number : 1 Question Id : 7155053772 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Online
Mandatory
20

20

80

Yes

0

1
715505229
Yes

null



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

4

f(x)=4sin '( x Jaﬂqﬁﬂ?%

x°+1

Options:

71550511991, [0: 7]
71550511992, [0: )
71550511993, [0. 27]

71550511994, [0. 2m)

Question Number : 2 Question Id : 7155053773 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

2
Let § = {; ceC:z =f(;2 -|-Rg(f))}.Then ZI:‘ is equal to

Zeb

Options :

o

71550511995.

71550511996. 3

b3 | =3

71550511997.

71550511998. 4



Question Number : 2 Question Id : 7155053773 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
2 -
A S= {zeC:z=i(z* +Re(2)}} 17 2|7 ww
ZeS

Options :

o

71550511995.

71550511996. 3

[

71550511997.

71550511998. 4

Question Number : 3 Question Id : 7155053774 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Let o, p be the roots of the equation x> =\2x+2=0,Then o'+ B is equal to
Options :

71550511999. — 64

71550512000, — 642

71550512001. — 128

71550512002, — 12842



Question Number : 3 Question Id : 7155053774 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T TR0 X2 —2x4+2=0 %Elffu, B%I al alt+ {iHW%
Options :

71550511999. — 64

71550512000, — 642

71550512001. — 128

71550512002, — 12842

Question Number : 4 Question Id : 7155053775 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the system of equations

Pl LRl
2x—Sy+iz=up
x4+ 2wz =7

has infinitely many solutions, then (A + n)% + (. — n)? is equal to
Options :

71550512003. 904

71550512004. 912

71550512005. 916

71550512006. 920



Question Number : 4 Question Id : 7155053775 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ERSHICAUNEETU]

.5 o o Bt

2x—Syt+tiz=u

XAy =

B eFdede Al (h+p)P+(h—p) WNERe
Options :

71550512003. 904
71550512004. 912
71550512005. 216

71550512006. 920

Question Number : 5 Question Id : 7155053776 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
1 2 3

Letfor A=|a 3
11

. |A| =2 .1f |2 adj (2 adj (2A))] = 32", then 3n + o is equal to

2

Options :

71550512007. @

71550512008. 10



71550512009. 11

71550512010. 12

Question Number : 5 Question Id : 7155053776 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 2 3
ATA=|a 3 1|®fU|Al=2gIafg
1 1 2

12 adj (2 adj (2A))] = 3278, W 3n + ¢ WER §
Options :

71550512007. 9
71550512008. 10
71550512009. 11

71550512010. 12

Question Number : 6 Question Id : 7155053777 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

All words, with or without meaning, are made using all the letters of the word
MONDAY. These words are written as in a dictionary with serial numbers. The
serial number of the word MONDAY iz

Options :

71550512011. 324



71550512012. 326
71550512013. 327

71550512014. 328

Question Number : 6 Question Id : 7155053777 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y[eG MONDAY & T 31&Ri & TarT I IR ez 3f2fqui 71 3igH, N U & |
EERCA IR EARIE: HHIP T=I & g1y ferar T g | vsg
MONDAY &1 ShHi® T

Options :
71550512011. 324
71550512012. 326

71550512013. 327

71550512014. 328

Question Number : 7 Question Id : 7155053778 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The coefficient of x° in the expansion Df[ 2x° —

Options :

71550512015. 8§



71550512016. ©
71550512017. 9

71550512018. 3

Question Number : 7 Question Id : 7155053778 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. 5

£

[Z,J'r;—L,j

3.'{'H /

F TR H »° P10 §

Options:

71550512015. 8§

71550512016. ©

80
71550512017. 9

o

-
F

71550512018. 3

Question Number : 8 Question Id : 7155053779 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Letay, a5, a3, .... be a G. P. of mncreasing positive numbers. Let the sum of its
6™ and 8™ terms be 2 and the product of its 3% and 5™ terms be 1 Then
6(a, + as) (as + ag) 1s equal to ’

Options :

71550512019, 2
71550512020.2vﬁi

71550512021. 33

71550512022. 3

Question Number : 8 Question Id : 7155053779 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Ol ay, 2y, ag, .... GUHM YATHD JEA13 B TH G. P. T AH 59D B 3R
3T TS P14 2 B qUT 3% TR 3R ufed ue 1 e é%m’r
6(a, + ay) (as + ag) TER &

Options:

71550512019. 2

71550512020. 22

71550512021. 33

71550512022. 3



Question Number : 9 Question Id : 7155053780 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

=X
- \__cxe Nt
If i e —cos (bx) o) _1?,thar1 S5a“ + b“ 1s equal to
x— 1—cos(2x)
Options :

71550512023. 68

71550512024. 64

-1
[ ]

71550512025.

-

71550512026. 76

Question Number : 9 Question Id : 7155053780 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

—X
o . Cxe et
qﬁ‘rlin e —cos (bx) 5 _17%,Eﬁ5a4+b~'w%'
x— 1—cos(2x)
Options :

71550512023. 68

71550512024. 64

-1
[ ]

71550512025.

-

71550512026. 76



Question Number : 10 Question Id : 7155053781 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

x

4
T -X 50
: +Ie “tan” xdx
&
]

The value of 18

" i (tan P x+tan x ]dx

O ey b | 3

Options :

rJ
L

71550512027.

71550512028. 42

L
=

71550512029.

L
—

71550512030.

Question Number : 10 Question Id : 7155053781 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

+
e

n

—X 50
Ie " tan” xdx
0

FHIHAE

1
I e’ (tan ¥y +tan™ x]cﬂr
0

Options:

71550512027. 25



71550512028. 49

L
=

71550512029.

L
—

71550512030.

Question Number : 11 Question Id : 7155053782 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. % T2 _2 N .
The area of the region {(x.y) :x* <y <|x*—4|,y=1} 18

Options:

i(w’i—l]
71550512031. 3

i(4~.E + |]
71550512032. 3

3 (42

=442 -1
71550512033. 4( A )

71550512034.

Question Number : 11 Question Id : 7155053782 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

t‘ﬂa fx. ) : .‘c3<_=13'<_=1 |:'.: —4Ly=1} PI W%



Options :

4
71550512031. 5(4\/5 - ])

4
71550512032. 5(4\5 * ])

E(4«.’5—1)

71550512033. 4

71550512034.

Question Number : 12 Question Id : 7155053783 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let (0. p) be the centroid of the triangle formed by the lines
15x—y=82.6x—Sy=—4 and 9x + 4y =17. Then a + 2p and 2o — p are the roots
of the equation

Options:
p)

71550512035. X~ —14x+48 =0
g

71550512036. X~ —10x+25=0

)
71550512037. X~ —7x+12 =0

)
71550512038. X~ —13x+42 =0



Question Number : 12 Question Id : 7155053783 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TGS 15x -y =82, 6x— Sy=—4 TUT 9x + 4y =17 GRI - A DI b h
(0. B) 1 Tl o + 2p AU 20— p g THIPRUI S A G 2

Options :

g
71550512035. X~ —14x+48 =0

g
71550512036. X~ —10x+25=0

R
71550512037. X~ —7x+12=0

)
71550512038. X~ —13x+42 =0

Question Number : 13 Question Id : 7155053784 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let the centre of a circle C be (0.p) and its radius r < 8. Let 3x + 4y = 24 and
3x — 4y = 32 be two tangents and 4x + 3y =1 be a normal to C. Then (o — p + 1) 18
equal to

Options :

L

71550512039.

71550512040. 6

-1

71550512041.

71550512042. 9



Question Number : 13 Question Id : 7155053784 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HFTUS 9 C B 5% (o.p) § GUT TP AT r < 8 § | A C Bl &l W
@I 3x + 4y = 24 TUT 3x — 4y = 32 T aUT UP AT 4x + 3y =1 T
d(@—p+r) TR T

Options :

L

71550512039.

71550512040. 6

o |

71550512041.

71550512042. @

Question Number : 14 Question Id : 7155053785 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The plane, passing through the points (0, —1, 2) and (—1. 2. 1) and parallel to the
line passing through (5,1.-7) and (1,-1.-1), also passes through the point

Options:
71550512043, (1. ~2. 1)
71550512044, (2. 5.0)

71550512045, (2. 0. 1)

71550512046, (0. 5, —2)



Question Number : 14 Question Id : 7155053785 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fegafl (5.1.-7) SfR (1.-1,-1)Y G S aTel! ¥l & Wi o fdgaf (0, -1, 2) (1,2, 1) § 8o
AT SHad, 8 A 3 o fig 3 gam w8 2

Options :

71550512043, (1. —2. 1)
71550512044, (2. 5.0)
71550512045, (2. 0. 1)

71550512046. (0. 5, —2)

Question Number : 15 Question Id : 7155053786 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= S i o I

. 15

The line, that 1s coplanar to the line

-3 I 5
Options:
x—-1 y-2 z-5
71550512047, -1 2 5
x+1 =2 z-3
71550512048. -1 2 5

71550512049.



x+1 y-2 z-5

71550512050, |1 2

¥ ]

Question Number : 15 Question Id : 7155053786 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

v 232l 200 3 e v o e 8

3 | 5

Options :

x—=1 y—-2 2-3
71550512047. -1 2 5

x+1 y=-2 2-3
71550512048, -1 2 5

x+1 ¥-2 2-3
71550512049. -1 2 4

x+1 »-2 2-5
71550512050. |1 2 5

Question Number : 16 Question Id : 7155053787 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let N be the foot of perpendicular from the point P (1. —2, 3) on the line passing
through the points (4. 5, 8) and (1, =7, 5). Then the distance of N from the plane
2x—2y+z+5=01s



Options :

71550512051. 6
71550512052. 7
71550512053. &

71550512054. ©

Question Number : 16 Question Id : 7155053787 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

o fegail (4,5, 8) AU (1,7, 5) W eIB WA W R fdg P (1, -2, 3) H
aﬁwmﬁmw%‘mmﬁﬂ_r—vw +5=0YNDIGI 8

Options :

71550512051. 6

71550512052. 7

71550512053. §

71550512054. 9

Question Number : 17 Question Id : 7155053788 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



. ..
Let ‘ﬁ‘ =2 bl = 3 and the angle between the vectors g and b be E Then

4
is equal to

(G+2b)x(2a-3b)

Options :

71550512055. 441
71550512056. 882
71550512057. 482

71550512058. 841

Question Number : 17 Question Id : 7155053788 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

" fa| =2, |b| = 38 e wfas g IR BB BId
EW%

(a+2b)x(2a-3b)

Options :

71550512055. 441

71550512056. 882

71550512057. 482

71550512058. 841

Question Number : 18 Question Id : 7155053789 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Let for a triangle ABC.

AB=-2i+j+3k
ﬁ:(IE'F)H}‘F}'IE
CA =4i +3]+0k

If § > () and the area of the triangle ABC is 5.\/5 , then .4 is equal to
Options:

71550512059. 60

Lh
L

71550512060.
71550512061. 120

71550512062. 108

Question Number : 18 Question Id : 7155053789 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

O U A ABC & fofg,

AB=-2i + ] +3k
ﬁzfﬁ+ﬁ_}"+yﬁ;
CA =4i +3]+ 5k
?1TE 5> (08 AU YT ABC 1 8950 5./6 8. 11 Cp.c4 TR T

Options :

71550512059. 60



L
Y

71550512060.
71550512061. 120

71550512062. 108

Question Number : 19 Question Id : 7155053790 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The random variable X follows binomial distribution B (n, p), for which the difference of the mean and the
variance is 1. If 2P(X =2) = 3P(X = 1), then n” P(X > 1) is equal to

Options :

71550512063. 15
71550512064. 16
71550512065. 12

71550512066. 11

Question Number : 19 Question Id : 7155053790 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T TEf® TR X U (596 §&7 B (n, p) FoRIaD H1eH T RO T 3fcR 1 &, T SRR Rl g
6 2P(X=2)=3P(X=1) 8, W i’ P(X > ) W &

Options :

71550512063. 15



71550512064. 16
71550512065. 12

71550512066. 11

Question Number : 20 Question Id : 7155053791 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The statement (p A (~q)) V ((~p) A @) V((~p) A (~q)) 15 equivalent to

Options :

71550512067, (~P) V (~q)

71550512068. P V (~a)

71550512069. (~P) V q

71550512070. PV 4

Question Number : 20 Question Id : 7155053791 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
FYT (p A (~@) V (*P) A ) V(~p) A (~q) [PI S T T2
Options :

71550512067, (~P) V (~q)

71550512068, PV (~q)



71550512069. (~P) V q

71550512070. PV 4

Mathematics Section B

Section Id : 715505230
Section Number : 2

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 715505230
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 21 Question Id : 7155053792 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

LetA={-4,-3.-2.0.1,3. 4} andR={(a, b)) EAx A: b =|ag| or B =a+ 1} bea
relation on A. Then the minimum number of elements, that must be added to the
relation R so that it becomes reflexive and symmetric, is

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 21 Question Id : 7155053792 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

AFTA={4,-3,2,0,1,3, ) STNAR TG GIYR= {(a,b) eAxA: b=|a| Wb =g+ 1} BTN TWGYR
150 3 o o o w1 Wi, fore o g woqed qu wmfira g g 2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 22 Question Id : 7155053793 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Total numbers of 3-digit numbers that are divisible by 6 and can be formed by
using the digits 1, 2, 3, 4, 5 with repetition, 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



10

Question Number : 22 Question Id : 7155053793 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 1, 2, 3, 4, 5 D YANT 9, TRIGT & F1Y, S5 ol Fob areil 6 9 faHrey 3
3ipi DI T=AT3H] &I T=T €

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 23 Question Id : 7155053794 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

The remainder, when 7193 i5 divided by 17. is

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 23 Question Id : 7155053794 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
7103 @1 17 9 fauiford @4 R IvFa 3




Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 24 Question Id : 7155053795 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Let [¢] denote the greatest integer < o. T'hen[\ﬁ} | r\.l"E} | [\E} F...t [{rﬁ]ii

equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 24 Question Id : 7155053795 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

AT [o] HETH QO < 0 81 V1 |+ V2 |+[ V3 |+...+[ V120 | RR

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText



Possible Answers :

10

Question Number : 25 Question Id : 7155053796 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Le‘rf Zkﬂ' xelR. If2f(2)+/(2)=119 (2)"+ 1 thenn is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 25 Question Id : 7155053796 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

IrHTf Zk:r xeR sigR2rQ)+f @) =190 +18 Ao WRg

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 26 Question Id : 7155053797 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T

=

n

Zﬂ}m J[Z 7k—1)5il‘l“ J:J cosx dv, n € N. Then f5; - f5 15 equal to

=l

Let f =i
0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 26 Question Id : 7155053797 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

[ZsinH J:J[Z(Zk—l)sink_] x} cosx de,n € NI T fy, - fo, R &

k=1
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 27 Question Id : 7155053798 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



dy  4x x+2

Je=

If y = p(x) 1s the solution of the differential equation 5 (1.2 —l) ( v>1

such that

y ( ) = %logp (2 5) and _1-‘(3,5) =i Ing‘_,{\fg + [:f)+ﬂ - \f}—f, a, B,y €N, then ofy is equal to
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 27 Question Id : 7155053798 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

dy 4 x+2 <1
e, g TR (1‘3-1)}_ BIEAy =) AU

y(2)= —logp( ‘_i) R (2| =alog, (Va + B)+ f-ly,a, B,y eNE, W oy R T
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 28 Question Id : 7155053799 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
3
The foci of a hyperbola are (= 2.0) and its eccentricity is 5 A tangent,

perpendicular to the line 2x + 3y =6, 1s drawn at a point in the first quadrant on the
hyperbola. If the intercepts made by the tangent on the x- and y-axes areaand b
respectively. then |fm| +IS£'J| 15 equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 28 Question Id : 7155053799 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

e g : 3 = :
U HfARaed B AT (= 2.0) € AU THBT Iebxell = 1 7 Fqufer o

3ffiuRaed & U fdig R U Wi ¥, S
2x + 3y =6 & TGAd &, Trdl oI 8| A T8 TR ¥4I, x- TUT y-3fefl IR HHS:
SHATES a TUT b T 8, T |6a] +|5b| TRTGR 3

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 29 Question Id : 7155053800 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



The mean and standard deviation of the marks of 10 students were found to be 50
and 12 respectively. Later, it was observed that two marks 20 and 25 were wrongly
read as 45 and 50 respectively. Then the correct variance 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 29 Question Id : 7155053800 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

10 BT & 3P| & HI qul HED [dda- HH: 50 aYT 12 Jid [HU 0| drg 3
g 1 1 fob 31 BTA & St 20 T 25 71eicl! I AL 45 YT 50 U MY A1l
el TR0 § .

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 30 Question Id : 7155053801 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

1 1

For x € (-1, 1], the number of solutions of the equation sin™" x =2 tan™ x 1s equal

to

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 30 Question Id : 7155053801 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
¥ € (=1, 1] % U, TH@R sin~! x = 2 tan~x & B0 P1 ST &

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Physics Section A
SectionId: 715505231
Section Number : 3
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Maximum Instruction Time : 0



Sub-Section Number : 1

Sub-Section Id : 715505231
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 31 Question Id : 7155053802 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

: o . e : ..
In the equation {7& +—2}[}f - h]: RT, X1s pressure, ¥ is volume, R is universal
Y

. : ; : o
gas constant and T 1s temperature. The physical quantity equivalent to the ratio — 1s:
Options :

71550512081, Energy

71550512082, Pressure gradient

71550512083, Impulse

71550512084. Coefficient of viscosity

Question Number : 31 Question Id : 7155053802 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Gﬁw{.my—"‘; [¥ —b]=RT H x SE T, ¥ 300 g, R WG 19 fadis

© SR T AT9HH B 1 SiUrd i; & qed Hifd® A §:

Options :



71550512081. »'

71550512082. ald HaUld]

71550512083, 34T

71550512084, XA ]

Question Number : 32 Question Id : 7155053803 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The distance travelled by an object in time t is given by s = (2:5)t* . The
instantaneous speed of the object at t = 5 & will be:

Options :

71550512085, 5 ms ™!

71550512086. 12.5 ms™?

71550512087 25 ms

71550512088, 62.5 ms™.

Question Number : 32 Question Id : 7155053803 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S G GRIUt T E T B TS gl s = 252 Bt =5 s R a%] B! &0 91a
GIE



Options :

71550512085. 5 ms ™!

71550512086. 12.5 ms™?

71550512087, 25 ms !

71550512088. 62.5 ms™.

Question Number : 33 Question Id : 7155053804 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A passenger sitting in a train A moving at 90 km/'h observes another train B
moving in the opposite direction for 8 s. If the velocity of the train B 1s 54 km/h,
then length of train B 1s:

Options :

71550512089. 80 m

71550512090. 120 m

71550512091. 200 m

71550512092. 320 m

Question Number : 33 Question Id : 7155053804 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



90 km/h ¥ T §5 CHIIS! A B =< 961 U AT fauia i o i geri
%ﬂ‘@ﬁ;ﬁsswé@m%lﬁWBﬁaﬂﬂmhﬁﬁ[WBﬁ

Options :

71550512089. 80 m
71550512090. 120 m
71550512091. 200 m

71550512092, 320 m

Question Number : 34 Question Id : 7155053805 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A vehicle of mass 200 kg 1s moving along a levelled curved road of radius 70 m
with angular veloeity of 0.2 rad/s. The centripetal force acting on the vehicle 1s:

Options :

71550512093. 14 N
71550512094. 2240 N
71550512095. 560 N

71550512096. 2800 N

Question Number : 34 Question Id : 7155053805 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



200 kg %000 BT UD A6 0.2 rad/s B DIUIY A7 Y 70 m HT & JHAA
g Je& TR I1Td Hdl o | 916+ IR HRId HHH—= a9 o:

Options :

71550512093. 14 N

71550512094. 2240 N

71550512095. 360 N

71550512096. 2800 N

Question Number : 35 Question Id : 7155053806 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I : For a planet, if the ratio of mass of the planet to its radius increases.
the escape velocity from the planet also increases.

Statement IT : Escape velocity 1s independent of the radius of the planet.

In the light of above statements, choose the most appropriate answer form the
options given below

Options:
71550512097. Both Statement [ and Statement I are correct
71550512098. Both Statement I and Statement IT are incorrect

71550512099. Statement I 15 correct but statement IT 1s incorrect

71550512100. Statement I 1s incorrect but statement I 1s correct



Question Number : 35 Question Id : 7155053806 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

SR CACU RIS

Y1 : U Ug & (71U, Ife U5 & o 1 SHG! FHdl & F1Y 3{UId dedl
2. 78 &1 garg a7 f sear g

Y 11 : TAT a7 ¥ B Fodn R FR 78 dear g
SIRIF Bl & e H, 19 138 7 fasped & 9 walite 3uged 3wk 9T
Options :

71550512097, &I HYF 19 HYT I Tel o

71550512098, GIFI ®YH 19 HY 1L TTAd ©

71550512099, PUT I TEI € TR~q PUT 11 T0d §

71550512100, PUT 1710 8 TR HYF 11 81 §

Question Number : 36 Question Id : 7155053807 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and the other 15
labelled as Reason R

Assertion A : A spherical body of radius (5 = 0.1) mm having a particular density
is falling through a liquid of constant density. The percentage error in the
calculation of its terminal velocity is 4%.

Reason R : The terminal velocity of the spherical body falling through the liquid
is inversely proportional to its radius.

In the light of the above statements. choose the correct answer from the options
given below



Options :

71550512101, Both A and R are true and R 1s the correct explanation of A
71550512102, Both A and R are true but R 1s NOT the correct explanation of A

71550512103. A is true but R 1s false

71550512104, A is false but R 1s true

Question Number : 36 Question Id : 7155053807 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁ%a%mﬁﬁnﬁ%:wﬁ#wmaamg@ﬁWR@ﬁﬁam
WA gl

HFUBYT A : (5= 0.1) mm BT U4 US FIT 99 B US TMADR a%] U
fad v & %a O MR Y81 81 29 Simr= a7 &1 71 § Wi 3 4% g1

FRUIR : 5d 1 TRl g5 AR 9% o1 WA 31 5891 (01 &
SYhHIIN! BIdll &
SR DYl & HgH H, I fa2 T fdeed] & 3 ¥el SR gL

Options :
71550512101, &l A TUTR To! © Ud R, A B Hol U &
71550512102, Gl A GUT R Hel € TR R, A $1 Hel IR el ©

71550512103, A 700 € TR=I R el €

71550512104, A 7T & TR R TEl ©



Question Number : 37 Question Id : 7155053808 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two planets A and B of radii R and 1.5 R have densities p and p/2 respectively.
The ratio of acceleration due to gravity at the surface of B to A is:

Options :

71550512105. 2:1
71550512106. 2:3
71550512107. 3:4

71550512108. 4:3

Question Number : 37 Question Id : 7155053808 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RT 1.5 R T3 & 31 451 AT B & U AT p 0UT p/2 §| B TUT A B TG
TR T R0 BT UM &

Options :

71550512105. 2:1

71550512106. 2:3

71550512107. 3:4

71550512108. 4:3



Question Number : 38 Question Id : 7155053809 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The initial pressure and volume of an 1deal gas are P, and V. The final pressure of

0 will be :

g

the gas when the gas 1s suddenly compressed to volume
(Given y = ratio of specific heats at constant pressure and at constant volume)

Options :

71550512109. Fo
71550512110. 4Po

71550512111, Pol4)’

71550512112. P0(4}?

Question Number : 38 Question Id : 7155053809 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

US TeX] 19 BT URIEE 319 qT g HHRL: P, 9UI V, | 5id 19 &

SEIEIcE l__ HTga- a= YUifsd faean mar g1 af 719 &1 ifam gre g

(e, » L Rrammnfr 3 IR faflry Sersit @1 s,

Options:

71550512109. Fo

71550512110. 4Ps



71550512111, Pol4)’

|
71550512112. Po(4)r

Question Number : 39 Question Id : 7155053810 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The mean free path of molecules of a certain gas at STP 13 1500d. where d is the diameter of the gas
molecules. While mamntaiming the standard pressure, the mean free path of the molecules at 373K 1s
approximately:

Options:

71550512113. 1500d
71550512114, 750d
71550512115. 2049d

71550512116. 1098d

Question Number : 39 Question Id : 7155053810 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR 1Y U4 3 TR U 18 79 & Sfvaif T w1ed 3 T 1500d B, TG d TN 5 S af T o g1 <
&1 A TGHR 373K TR SHU[3H 1 1 G 0 T

Options :

71550512113. 1500d

71550512114, 750d



71550512115. 2049d

71550512116. 1098d

Question Number : 40 Question Id : 7155053811 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A particle executes SHM of amplitude A. The distance from the mean position
when its's kinetic energy becomes equal to its potential energy 1s:

Options :

71550512117. 2 4

]
—A
71550512118. 2

|
— A
71550512119, V2

—
71550512120. v 24

Question Number : 40 Question Id : 7155053811 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS SN A T B IRG 3H1ad 71fd Bl o | Ofd S9! el Sroll reufast FHai
& SRIER gl Sl & o e Rufd 3 599! 1 6

Options :

71550512117. 2 4



|
—A
71550512118. 2

|
i
71550512119, /2

I"_
71550512120. V24

Question Number : 41 Question Id : 7155053812 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 10 pC charge is divided into two parts and placed at 1 ¢m distance so that the
repulsive force between them is maximum. The charges of the two parts are:

Options:

71550512121, 8 uC. 2 uC
71550512122, 7 uC. 3 uC
71550512123, 5 nC. 5 uC

71550512124, 9 uC. 1 uC

Question Number : 41 Question Id : 7155053812 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U 10 uC S &l HRN J fquIioid fooarn Siar § auT 1 om &1 g3 0R 3@ e
STl & difs 59 919 Uidayur 9a AfSHdd 811 g1 YT & 3H1aY &




Options :

71550512121, 81C, 2pC
71550512122, 7HC, JuC
71550512123, SUC, SuC

71550512124, 2 nC. 1 uC

Question Number : 42 Question Id : 7155053813 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In the network shown below, the charge accumulated in the capacitor in steady state will be:

3V 40

{ A

Options :

71550512125, 10.3 uC

71550512126, 4.8 uC

71550512127, 7-2 uC

71550512128, 12 nC



Question Number : 42 Question Id : 7155053813 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

e UG Rid Jead H, YUIa & [Ty 3@y HfEd 31d g

3V 40
|
|

Options :

71550512125, 10.3uC

71550512126, 4.8uC

71550512127, 7-2nC

71550512128, 121C

Question Number : 43 Question Id : 7155053814 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



An electron 1s moving along the positive x-axis. If the uniform magnetic field is
applied parallel to the negative z-axis, then

A. The electron will experience magnetic force along positive y-axis
B. The electron will experience magnetic force along negative y-axis
C. The electron will not experience any force in magnetic field

D. The electron will continue to move along the positive x-axis

E. The electron will move along circular path in magnetic ficld

Choose the correct answer from the options given below:

Options :

71550512129, A and E only
71550512130, € and D only
71550512131, B and D only

71550512132, B and E only

Question Number : 43 Question Id : 7155053814 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U Soae= YT x-3& & SR Td B 81 ¢ | e TMadH a8 IR
BUTHD z-3{&f & GHR UGHEH Mo [ &3 RITUd 6 Sa1 8, a9

A. TUER YD y-31&] D SR DY 0 D1 3FHT B
B. SUGC I BUNED y-31& @ (G D 19 §¢ DI SHIHd DT
C. g T &7 § [l 9 BT 3Ha ol DN

D. AdCA YATHD x-31&] B SR THAR el D

E. 30acH e &9 § gaidR Uy W ITd B4
- fed T fasb el § Hel S g

Options :

71550512129, Bad ATYUTE

71550512130.



FHad C dUTD

71550512131, ad B dUT D

71550512132, ad B dUTE

Question Number : 44 Question Id : 7155053815 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I : An AC circuit undergoes electrical resonance if it contains either a
capacitor or an inductor.

Statement IT : An AC circuit containing a pure capacitor or a pure inductor
consumes high power due to its non-zero power factor.

In the light of above statements, choose the correct answer form the options given
below:

Options :

71550512133. Both Statement [ and Statement II are true

71550512134. Both Statement [ and Statement II are false

71550512135. Statement I 1s true but statement IT 1s false

71550512136. Statement I 15 false but statement IT 1s true

Question Number : 44 Question Id : 7155053815 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



e al oy ey T E:

HYF1: U UG URYY 6 degd 318 Bl ¢ Jia o594 a1 dl U He1RkA
A1 U%H IRP TN el

SYF 11 : U YR T7 IS IR 1 g3 U WGl YR 370 Y Qe
Ul & HRUT fYF Ui 1 @ud I 6|

SR DYl P HaH #, 7 738 73 fasedl & 9 981 TR gL

Options :

71550512133, &I PUA 1T BUA I Tel &
71550512134, S 1 d SHT I Tad &

71550512135, PUT 1 TET & TR-g U 170 &

71550512136, PUT 1710 § TR U 11 Hel §

Question Number : 45 Question Id : 7155053816 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In an electromagnetic wave, at an instant and at a particular position, the electric
field 15 along the negative z-axis and magnetic field 15 along the positive x-axis.
Then the direction of propagation of electromagnetic wave is:

Options :
71550512137, Positive y-axis

71550512138, negative y-axis

71550512139, positive z-axis



71550512140, at 457 angle from positive y-axis

Question Number : 45 Question Id : 7155053816 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U dggadasid aiil & [o1u fhat & U Mfdd ®IH W, fagygd &

2-31&f & SN U TEDY & YD x-3H8 B SRR G| aaéaﬁaaaﬁu
T & W= Bl 3R R

Options :

71550512137, YD y-3&

71550512138, PINHD y-HE

71550512139, Y-IHP z-3H&

71550512140, YD y-3&1 F 45° & HIU TR

Question Number : 46 Question Id : 7155053817 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In a Young's double slits experiment, the ratio of amplitude of light coming from
slits 15 2:1. The ratio of the maximum to minimum intensity in the interference
pattern is:

Options :

71550512141. 2:1

71550512142. 9:4



71550512143. 9:1

71550512144. 25:9

Question Number : 46 Question Id : 7155053817 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U 4 & fgfor var 4, Biival 9 o ard Yo & S &1 S0 241 &1
fcraror Ged | Siftadn 9y <g=ad digarsii &1 391 &:

Options :

71550512141. 2:1

71550512142. 9:4

71550512143. 9:1

71550512144. 25:9

Question Number : 47 Question Id : 7155053818 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I : Out of microwaves, infrared rays and ultraviolet rays. ultraviolet
rays are the most effective for the emission of electrons from a metallic surface.

Statement IT : Above the threshold frequency. the maximum kinetic energy of
photoelectrons 1z inversely proportional to the frequency of the incident light.

In the light of above statements, choose the correct answer form the options given
below

Options :



71550512145. Both Statement [ and Statement I are true
71550512146. Both Statement I and Statement IT are false
71550512147. Statement I 15 true but statement I 1s falze

71550512148. Statement I is false but statement II 1s true

Question Number : 47 Question Id : 7155053818 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

CIEACUERICACURIGGS

HYUT1 : TS YUIdIg 9ag I gaaci-i & oA & (¢10 & aLill, Sfavdd [brull
JUT RIS fur § 9 W& ol sfde gurdt el 81

HYUF 11 : Sodll SR D HUR, Biel saaci-l B eHad s Sul safid
THTRT B 31T F SgEhHYN! B &

SRIFd Byl & Jeu §, 14 38 1 fadedl & 9 98l S g

Options :

71550512145, Gl PYF 19 HUF I T8l o

71550512146, &l PUH 19 B 11 T0d ©

71550512147, PUT I TEI § TR-q PYUT 11 T0d ©

71550512148, PUT 1710 8 URg YT 11 81 §

Question Number : 48 Question Id : 7155053819 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other 15
labelled as Reason R

Assertion A : The binding energy per nucleon is practically independent of the atomic
number for nuclei of mass number 1n the range 30 to 170.

Reason R : Nuclear force 1s short ranged.

In the light of the above statements, choose the correct answer from the options
given below

Options :

71550512149, Both A and R are true and R 1s the correct explanation of A

71550512150, Both A and R are true but R 1s NOT the correct explanation of A

71550512151, A is true but R 1s false

71550512152. A is false but R 1s true

: N.A Minimum

Question Number : 48 Question Id : 7155053819 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

ﬁ?mﬁﬁ@%:wﬁﬂwmaamgﬂ%ﬁmmk@ﬁ%aw
TR

HTUBYT A - SHAH TEAI30 T 170 & ST dTd AR & [ Uid Gfded= a2 Sl
HHAR TR U] W uR 42k 987 Bl B

FRUIR : ATHHY g Y& WY & &id g
SWRIF Byl & Y d, 4 1480 1 [doed! I 9 9e! SR 90
Options:

71550512149, GIF A YT R T8I ¢ Ud R, A B ol U §

: N.A Minimum



71550512150, &1 A TUT R Hel € TR R, A | He! IR Tl ©

71550512151, A 6l € R RIAA ©

71550512152, A 70 & TR R Tel ©

Question Number : 49 Question Id : 7155053820 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The output from a NAND gate having inputs A and B given below will be,

A

| I I
: e .
(Input) | I | |
0 | | L
I | | I I I
B 1 —
(Input) I
0
I I I I
Options :
I I I [ I [ I
I I I [ I [ I
| T |
I I I
I I I
I I I
} I —
I I I [ I [ I
71550512153. | | | I | I [

71550512154. I



71550512155. I I I

71550512156. I

Question Number : 49 Question Id : 7155053820 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A TYT B AT ardl NAND Tie &y ffa avr 3u e g = g

A I | | I | I I
1 m— 1
GEEY) I | I I
0 | | | |
I I I I I
S I
) l
0
I
Options:
[ [ [ 1 I | [
| | | I I | |
| T |
| I |
| I |
| I |
| I S
| | | I I | |
71550512153. I I I [ I | I

71550512154.



I I I 1 I 1 I
1 I I 1 I 1 1
1 1 | | 1
I I | |
I I | I
I I | 1
I | | 1
| | | | | | |
I I I | I | I
I I I 1 | 1 I
I I I 1 1 1 I
| ]
1 I
1 I
1 I
1 I
I I I 1 1 1 I
71550512155. I I I | 1 I I
I I I 1 | I I
I I [ | [ I I
I i ]
I 1 I
I 1 |
I 1 I
1 1 I
I | I 1 I
71550512156. [ [ I 1 1 1 I

Question Number : 50 Question Id : 7155053821 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

To radiate EM signal of wavelength 1 with high efficiency, the antennas should have a minimum size equal to

Options :

-2
=0

71550512157.

=~

71550512158.

B | &

71550512159.

g

71550512160.



Question Number : 50 Question Id : 7155053821 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
I YT 1. TG o 9 Pl YaTs 34 Y [aPNG = o fog UeT 1 I SO 5H T

Options :

bJ
=

71550512157.

]

71550512158.

b | 2o

71550512159.

|

71550512160. 4

Physics Section B

SectionId: 715505232
Section Number : 4

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Maximum Instruction Time : 0



Sub-Section Number : 1

Sub-Section Id : 715505232
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 51 Question Id : 7155053822 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A car accelerates from rest to u m/s. The energy spent in this process is E J. The
energy required to accelerate the car from u m/s to 2u m/s 18 nE J. The value of n is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 51 Question Id : 7155053822 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U% BR [03H H u m/s G @d 8id! 51 59 W1 H o8 &9l E Od 5 | BR
@l um/s ¥ 2um/s TH @Rd 8 & [0TY STRID S0l nE G & | n DT HH
gl

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 52 Question Id : 7155053823 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A light rope 1s wound around a hollow cylinder of mass 5 kg and radius 70 cm.
The rope 1s pulled with a force of 52.5 N. The angular acceleration of the cylinder

will be rad s,
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 52 Question Id : 7155053823 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

5 kg TUT 70 em 1501 & T GHET 90 UR T Gl SRI AUl o | SN @ 52.5
N &9 I Wi o1dT 8 | 0 B1 HIUig @Rl rad 52 I

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 53 Question Id : 7155053824 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Two plates A and B have thermal conductivities 84 Wm™ 'K~ and 126 Wm™ 'K~}
respectively. They have same surface area and same thickness. They are placed in
contact along their surfaces. If the temperatures of the outer surfaces of A and B

are kept at 100 "'C and 0 °C respectively. then the temperature of the surface of

contact in steady state 1s T,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 53 Question Id : 7155053824 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

&l Wel AT B B &1 TATHAIS A 84 Wi K~ YT 126 Win 'K gl
S HIeTs 4 9§ &% Uh 99 6 | d 39 aal & 91y §uo & 361 131G A
d B & 91831 9l &1 dYHH HH: 100 °C TUT 0 °C | ™Tg AT H JUH ad BT

GIEEIG ‘CEl

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 54 Question Id : 7155053825 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



In an experiment with sonometer when a mass of 180 g 1s attached to the string, it
vibrates with fundamental frequency of 30 Hz. When a mass m 1s attached, the
string vibrates with fundamental frequency of 50 Hz. The value of m 1s

g.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 54 Question Id : 7155053825 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TS GHHCR JaIT H o/d SRI ¥ 180 ¢ T UH So0H Q19T T 8, T8 30 Hz i
0d SRl & B Pl ¢ | T4 m GOHM ST 81 a0 SRI 50 Hz &1 50 Mg &
HIF BT 51 m BT HMA ggl

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 55 Question Id : 7155053826 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Three point charges q. —2q and 2q are placed on x-axis at a distance x =0,

‘.5

T= E R and x = R respectively from origin as shown. If q=2 % 107°C and

R =2 cm, the magnitude of net force experienced by the charge

—2q 18 N.
q —2q 2q
= 2 5 = X
x=0 3 i |
< —R ———= :
I
< R >

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 55 Question Id : 7155053826 Question Type : SA Calculator

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

ol farg 3Mde g, —2q TUT 2q x-3& W HA S5 I AL x=0, x :;—iH Ud x=
R RIEE ol A d fcam marg19fd q=2x 109CTdR =2 em, —

2q 3MTAY GRT URUTH g o1 gfemm Nl

q —2q 2q
2 - & = X

| I

x=0 3 | |

< ~R —> |

I

< R >

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes

: None



Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 56 Question Id : 7155053827 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In the circuit shown, the energy stored in the capacitor 1s n nJ. The value of n i3

302 402
Gt

12V
90 20

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 56 Question Id : 7155053827 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
yefRid aRoy H, derfea 5 Ia Sl o W 81 o FTHHA el

302 40

bl
—l | |
I |

90 20




Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 57 Question Id : 7155053828 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A straight wire AB of mass 40 g and length 50 ¢m is suspended by a pair of
flexible leads in uniform magnetic field of magnitude 0.40 T as shown in the
figure. The magnitude of the current required in the wire to remove the tension in

the supporting leads is A. (Take g =10 ms™).

] [
A ¥ = = x x B

)-C :i, , . s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 57 Question Id : 7155053828 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



40 g GETHM TYUT 50 cm THETE BT TP A1 TR AB B TP ollo! ddid dR gRI

0.40 T UIRHIU & UHHH G g &3 T UalRid [ S8R a1 g |

YR Y @ AIS] 1 d-1d WH B & [0 dR H G D Bl URT BT GRHT0]
A B (ﬁ_ﬁﬂ%g= 10 ms™2).

(] ]
A ¥ ® x x x® B

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 58 Question Id : 7155053829 Question Type : SA Calculator

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
An insulated copper wire of 100 turns iz wrapped around a wooden cylindrical

core of the cross-sectional area 24 cm”. The two ends of the wire are connected to
a resistor. The total resistance in the circuit is 129Q. If an externally applied uniform
magnetic field in the core along its axis changes from 1.5 T in one direction to 1.5
T in the opposite direction, the charge flowing through a point in the circuit during
the change of magnetic field will be mC.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

:None



Question Number : 58 Question Id : 7155053829 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T SR PIR TR P 100 BRI PI 24 em? SR TRE GAFA D TP
SOFIPR DR R AUCI 1§ | AR & a1 R U UioRiY 9S8 1 IRTY oI
S UIeRIY 12Q 1 TG DR T SHB! 318 & S U@ sl SHRIUT U
&7 1.5 T U fa= ¥ g&’l 3= ¥ 1.5 T yRafdd g1 81 29 uRad1 &
uRgYy ¥ ol feg 9 1o arell ey mC BT

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 59 Question Id : 7155053830 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A bi convex lens of focal length 10 cm 1s cut in two identical parts along a plane

perpendicular to the principal axis. The power of each lens after cut 1s
D.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 59 Question Id : 7155053830 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



10 Grft PIchH &l aTet e feraerer of o1 T e o Qa1 &l U W A fawTiora fepar
el & | FaTaT o 916 W e ! el D&l

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 60 Question Id : 7155053831 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An atom absorbs a photon of wavelength 500 nm and emits another photon of wavelength 600 nm. The net

10

energy absorbed by the atom in this process s n x 107"V, The value of n 1s

[Assume the atom to be stationary during the absorption and emission process|
(Take h=66x 10775 and ¢ = 3 % 10 mws)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 60 Question Id : 7155053831 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



wqwqmﬂmnaﬁ%%ﬁwwqﬂa:r&mﬁfﬁaﬁm%ﬁmmamﬁ
IR BIeH IOl PR 5| 59 Wﬁwmﬁa@ﬂﬁﬁ

Sl (n % 107%eV) Bl n BTHA
mﬁimﬂaﬁwawmﬁiaﬁmmﬁ%ﬂaﬁw%

M T:h=66x 104 TWdc=3 x 105 m/s)|

Response Type : Numeric

Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10
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Question Number : 61 Question Id : 7155053832 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : SO, and H,O both possess V-shaped structure.
Statement IT : The bond angle of SO, is less than that of H,0.

In the light of the above statements. choose the most appropriate answer from the
options given below:

Options :

71550512171. Both Statement I and Statement IT are correct
71550512172. Both Statement [ and Statement I are incorrect
71550512173. Statement I 1s correct but Statement IT 15 incorrect

71550512174. Statement I 15 incorrect but Statement I 1s correct

Question Number : 61 Question Id : 7155053832 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

HYT1: SO, 3HR H,0 G| Bl TR V-3THR B |
HYF 11 : SO, B Y DIV H,0 I PHBIAI G|
SWRIGd DYl & YR R i 38 T8 fasedi § 4 Jad Iid STk o1 IH|

Options :

71550512171, PUA1 AR 11 G A & |

71550512172, PUA 1 AR 11 &I 3T T

71550512173, BUAI SR 11 GHI 3FT B



71550512174, PUTI HU € TReg PYT I A ©

Question Number : 62 Question Id : 7155053833 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What happens when methane undergoes combustion in systems A and B respectively?

Adiabatic Diathermic
system container
System A System B
Options :
System A System B
71550512175 Temperature rises Temperature remains same
System A System B
71550512176 Temperature remains same Temperature rises
System A System B
71550512177 Temperature falls Temperature rises
Svstem A Svstem B
71550512178 Temperature falls Temperature remains same

Question Number : 62 Question Id : 7155053833 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1




18I © Od B & A 3R B & A S84 ®Rdl o2

Adiabatic [Diathermic
5}"5['5:[11 C{}Hlﬂillﬂl'
System A System B
Options :
Foma fFoms
71550512175, (A A &€ T S 2T
Fema Fems
71550512176, [ SHH T (0T A 9GP
Mo A Fome
71550512177, AET H fiRrge g T H afg &
Fema Fems
71550512178, [T A A & I A T

Question Number : 63 Question Id : 7155053834 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 1s labelled as Assertion A and the other 15
labelled as Reason R.

Assertion A : The diameter of colloidal particles in solution should not be much
smaller than wavelength of light to show Tyndall effect.

Reason R : The light scatters in all directions when the size of particles is large
enough.

In the light of the above statements, choose the correct answer from the options
given below:

Options :

71550512179, Both A and R are correct and R is the correct explanation of A



71550512180, Both A and R are correct but R 1s NOT the correct explanation of A

71550512181. A is true but R is false

71550512182. A is false but R 1 true

Question Number : 63 Question Id : 7155053834 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 1s labelled as Assertion A and the other 1s
labelled as Reason R.

fUPYT A : foga uyE fiSEH & fau foag- | @idig s Sull &1 oI e
&1 &2 4 9gd B ol ol ey

PRUTR : 5§ DU B HHR T4 951 51dl © a6 TDHIR BT UDH10H T
fezmaii F gar gl

SRIGd PYH & YR R 68 T fabedl I Fel SR DI I:

Options:

71550512179. AﬁRﬁW%S‘ﬁ?R,AﬁEﬁWW%I

21550512180, A SR R &I Tel § TRq R, A DI U8 ! AR To &

71550512181, A TT T RqR ST E|

71550512182, A A § RGR IA G|

Question Number : 64 Question Id : 7155053835 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The covalency and oxidation state respectively of boron in [BF 4], are
Options :

71550512183. 4 and 4

71550512184, 4 and 3

71550512185. 3 and 4

71550512186. 3 and 5

Question Number : 64 Question Id : 7155053835 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
SR P! Geuaiaddl 3R HTFHIH0T 3G [8F,~ H HH: B

Options:

71550512183, 4 ¥ 4

71550512184, 4 3 3

71550512185. 3 3 4

71550512186. 3 3 5

Question Number : 65 Question Id : 7155053836 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements related to Ellingham diagram:

Statement I : Ellingham diagrams can be constructed for formation of oxides, sulfides and halides of metals.
Statement IT : It consists of plots of A" vs T for formation of oxides of elements.

In the light of the above statements, choose the most appropriate answer from the options given below:
Options :

71550512187. Both Statement I and Statement II are correct
71550512188. Both Statement [ and Statement I are incorrect
71550512189. Statement I 1s correct but Statement II 1z incorrect

71550512190. Statement I 15 incorrect but Statement I 1s correct

Question Number : 65 Question Id : 7155053836 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

HYT 1 : VT 310G B U3l & SHIRISS| Heblgs! R gags| & a4 &

foTQ ST o SFar g
HYTIL: U8 Al & HRIGS! & g4 & a8 AFHO 3R T & T 30 & |
SWRIgd DU P YR W i fad T fdeed ¥ ¥ gad 3fed 3R &1 1

Options:

71550512187, PUA1 SR GH T4 8

71550512188, DU 1 3R 11 GHI AT B



71550512189, PUT 1 T € TRg DY 11 3T ©

71550512190, PUT 1 3 § R FUA N1 FA T

Question Number : 66 Question Id : 7155053837 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 1s labelled as Assertion A and the other 1s
labelled as Reason R.

Assertion A : Isotopes of hydrogen have almost same chemical properties, but
difference in their rates of reaction.

Reason R : Isotopes of hydrogen have different enthalpy of bond dissociation.

In the light of the above statements, choose the most appropriate answer from the
options given below:

Options:

71550512191, Both A and R are correct and R 1s the correct explanation of A
71550512192, Both A and R are correct but R 1s NOT the correct explanation of A

71550512193. A is correct but R 1s not correct

71550512194. A is not correct but R 15 correct

Question Number : 66 Question Id : 7155053837 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements. one 1s labelled as Assertion A and the other 15
labelled as Reason R.

DY A : TESITH & ARG & T THH TS UeH §1d &
TR 3HThaT Pl R S-S el 6

PRUIR : TES oA & JHTHS! F1 &Y fagioH Tl - el ol
SR HYl & YR R A ol T faeedl & 968 IR SR a1 |

Options :

71550512191, A SR R &1 T8l § AR R, A B! ol A=A ©

71550512192, A 3R R &1 T6l & 3R R, A & Jo! 4R 1ol ©

71550512193, A Tl 8 IRQR HTAT

71550512194, A ORI € TR R ¥E1 §

Question Number : 67 Question Id : 7155053838 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Better method for preparation of BeF,. among the following is

Options :
- A 2
71550512195, B€ T F, ——> Bek,
. _ﬁ -
71550512196, (114 )2BeF, —— BeF,

A -
71550512197, BeO + C+E > Bek,

\ A X
71550512108, BEH> T 1 > Bel,



Question Number : 67 Question Id : 7155053838 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafad ¥ I BeF, S &1 Had 351 Aol o

Options :
- j -
71550512195, B T > Bek,
N = : -‘i = :
71550512196.{ }14}3[3‘-14 —_— B'vl:

A -
71550512197, B€O + C + F > Bek,

. A 1
71550512198, B€H> T 1 > Bel,

Question Number : 68 Question Id : 7155053839 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct order of standard enthalpy of formation of sodium halides.
Options :

71550512199, NaF < NaCl < NaBr < Nal

71550512200. Nal < NaBr < NaCl <NaF

71550512201, Nal < NaBr < NaF < NaCl

71550512202, NaCl << NaF < NaBr < Nal



Question Number : 68 Question Id : 7155053839 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tifsay sangs! & g a7 fReH e & 98 4 &1 ggarH|

Options :

71550512199, NaF < NaCl < NaBr < Nal

71550512200. Nal =< NaBr < NaCl < NaF

71550512201. Nal < NaBr < NaF < NaCl

71550512202. NaCl == NaF < NaBr < Nal

Question Number : 69 Question Id : 7155053840 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correct group of halide ions which can be oxidised by oxygen in acidic medium is
Options:

71550512203, Br~ and I” only

71550512204, CI” . Br™and I” only

71550512205, 1 only

71550512206, Bt~ only



Question Number : 69 Question Id : 7155053840 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SIS 3G &I ol &7l g Sl Ao & gRI Sy JTed § faidd
e ot Hepdl &

Options:

71550512203, @ad Br 31X I~

71550512204, Pd CI~, Br~ 3R I

71550512205, Had I

71550512206, Hdd Br™

Question Number : 70 Question Id : 7155053841 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Whih o the follwang complexes will xtubt oo fction o o appled magnie ek

Options :

3_
71550512207, [Co (en)s]
71550512208, [Co (H20)g]™"

71550512209, [Zn (H,0)s]™"



71550512210, [Nt (H;0)6]™"

Question Number : 70 Question Id : 7155053841 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
FafaiEd o 9 o H 9 Yo gao i &9 T Gali® ehitd g

Options :

3_
71550512207, [Co (en)3]

71550512208, [Co (H20)s]""

et
71550512209, [Zn (H;0)s]

T
L

71550512210, [Nt (H;0)¢]

Question Number : 71 Question Id : 7155053842 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are the Green house gases?

A. Water vapour
B. Ozone
C.1,

D. Molecular hydrogen

Choose the most appropriate answer from the options given below:

Options :

71550512211, A and B only



71550512212, Aand D only

71550512213, € and D only

71550512214, B and C only

Question Number : 71 Question Id : 7155053842 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Fafafed o 9 ®H-oH gRays 19 82

A. ol iy
B. 35

C.I;

D. 04D BES o
= 148 T fap el # 9 a9 Sd &l I
Options :

71550512211, Had A AR B

71550512212, Had A 3R D

71550512213, ad C 3R D

71550512214, PaA B HR C

Question Number : 72 Question Id : 7155053843 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

-

The total number of stereoisomers for the complex [Cr(ox),CIBr]”™ (where ox =

oxalate) 1s:

Options :

[

71550512215.
71550512216. 3
71550512217. 4

71550512218. 1

Question Number : 72 Question Id : 7155053843 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
B [Cr(ox),CIBr]>~ (W81 ox = 3fdcic) & [T $d fafde garaydl:

Options :

(o]

71550512215.

71550512216. 3

71550512217. 4

71550512218. 1

Question Number : 73 Question Id : 7155053844 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In the wet tests for detection of various cations by precipitation, Ba®~ cations are
detected by obtaining precipitate of

Options :

71550512219, BaSOy

71550512220, Ba(OAc),

71550512221, BaCO;3

71550512222, Ba(ox) : Barium oxalate

Question Number : 73 Question Id : 7155053844 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Al eFI=] &1 a&yu §RI Odl T & 59 IR H Bal™ 4910 &l - &
AT GRT g Il &

Options :

71550512219, BaSO4

71550512220, Ba(OAc);

71550512221, BaCO;

71550512222, Ba(ox) : Barium oxalate

Question Number : 74 Question Id : 7155053845 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement I : Tropolone 1s an aromatic compound and has 8 n electrons.
Statement IT : n electrons of >C = O group n tropolone 15 involved i aromaticity.

In the light of the above statements. choose the correct answer from the options grven below:
Options :

71550512223. Both Statement I and Statement IT are true
71550512224. Both Statement I and Statement IT are false
71550512225, Statement I 1s true but Statement II 1s false

71550512226. Statement I 1s false but Statement II 15 true

Question Number : 74 Question Id : 7155053845 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y1 : TIAEH U CACH TR § SR 594 8 » SadeH gid 8
FHYT I : >C = 0 HG & « saiaeH WIHCRIE & YT od 5
SURIGd HYHT P MMYUR R =i (0 72 fddedl # T Igl SR DI Uga:

Options :

71550512223, BUTI R HYTI1 I ©

71550512224, BUA 1 SR 11 3EA 8

71550512225, PUT1 HU & TRq DY 11 A &



71550512226, PUT ST SR PYT N II €

Question Number : 75 Question Id : 7155053846 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II
1 - Bromopropane 1s reacted with reagents in List I to give product in List II

LIST I - Reagent LIST II - Product
A [KOH (ale) T [Nitrile
B. [ECN (alc) II. [Ester
C. JAgNO; III. |Alkene
D. H;CCOOAg IV. [Nitroalkane

Choose the correct answer from the options given below:
Options:

71550512227, A-IV. B-III. C-II, D-I

71550512228.

71550512229.

71550512230.

AL, B-I, C-IV, D-II

A-I, B-III, C-IV, D-II

A-I, B-IIL, C-TII, D-IV

Question Number : 75 Question Id : 7155053846 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gl 11 11 I gHfeId B
1 - SHIYIGA g 1 9 sifiepties I Hffchar By Il 11 1 IdIE ol ©

T 1 - SfusHS 1 11 - A
A [KOH (ale) I MR
B. [KCN (alc) I Joex
C. |AeNO, 111 [Tk
D. [H;CCOOAg IV. [FZeitedd
- fed T fapedl 6 9 el SR @l 9H:
Options :

71550512227, A=IV. B-III. C-II. D-I
71550512228, A-IIL B-L. C-IV, D-II
71550512229, A-IL B-IIIL. C-IV. D-II

71550512230. A-L B-IL. C-III D-IV

Question Number : 76 Question Id : 7155053847 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 1s labelled as Assertion A and the other 1s
labelled as Reason R.

Assertion A : Order of acidic nature of the following compounds is A>B = C.

[egioNet

Reason R : Fluoro 1s a stronger electron withdrawing group than Chloro group.

In the light of the above statements, choose the correct answer from the options
given below:

Options :



71550512231, Both A and R are correct and R 1s the correct explanation of A

71550512232, Both A and R are correct but R is NOT the correct explanation of A

71550512233. A is true but R 1s false

71550512234. A is false but R 1s true

Question Number : 76 Question Id : 7155053847 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

ey A : Fofafag e o seigaT ST HFa s A>B > C

OH O

O
l .
O/L I
i CH,
A B L
F

PRI R : IR FARI H 1G] UGd Saac - TSl 998 o
SWRIdd BUl & YR R A1 140 72 fdwetl & 9 Fel S &l I

Options :

71550512231, A 3R R &1 U6] & 3R R, A T Ug! oIS §

71550512232, A SR R &1 To! g Wi R, A DI Jo! ORAT Tol §

71550512233, A 6l 8 R ITAA ©

71550512234, A TEl 761 ¢ W R IET ©



Question Number : 77 Question Id : 7155053848 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The major product for the following reaction 1s:

///;J\\ HO ~~~_~ SH

CN

Options :

/\/U\/\['N

71550512235, HS

PN

71550512236. HO

’//\c:NH
|

71550512237. 0 \8S
/f\\c — NH
I
71550512238. g™\ OH

Question Number : 77 Question Id : 7155053848 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafefaa sififear ¥ 91 JE 3de 6

///ﬂ‘\\ HO -~~~ SH

CN

Options :

/\/U\/\['N

71550512235, HS



ke T Wk

71550512236. HO

ZN

(. =— NH
| k
71550512237. 07 \5
"{ﬁ\(_‘ — NH
|
71550512238, s~ OH

Question Number : 78 Question Id : 7155053849 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Compound A from the following reaction sequence 1s:

Br
Br,. CS, NaNO, / HCI H, PO,
> B - = T —
0-5°C A
Br Br
Options :

71550512239. Benzoic Acid

71550512240, Salicylic Acid

71550512241, Phenol

71550512242, Aniline

Question Number : 78 Question Id : 7155053849 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fFrafafad siffea semn & 9iffe A ©:
Br
Br,, C5, NaNQ, / HCI H, PO,
— —> B. - > C. - —
(-5°C A
Br Br
Options :

71550512239, SIS 3

71550512240, Sfafifes 3

71550512241, B

71550512242. E’.l uig

Question Number : 79 Question Id : 7155053850 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The naturally occurring amino acid that containg only one basic functional group
in its chemical structure is

Options :
71550512243, asparagine

71550512244, lysine

71550512245, arginine



71550512246. histidine

Question Number : 79 Question Id : 7155053850 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

u@w%waﬁm@ﬂﬁmﬁmﬁ%ﬂw&ﬂﬁﬂ&qmm T4
BIdl ©:

Options :

71550512243. ﬁE RIS

71550512244, TI%HI

71550512245, 3 EEiE

71550512246. EI%EE‘ ;

Question Number : 80 Question Id : 7155053851 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
A Weak intermolecular forces of I [Hexamethvlenediamine + adipic
©7 |attraction " lacid
B. Hydrogen bonding I |AlEt; + TaCly
C. Heavily branched polymer ITIL|2 — chloro — 1, 3 — butadiene
D. [High density polymer IV |Phenol + formaldehyde

Choose the correct answer from the options given below:

Options :



71550512247, A-IL. B-IV, C-I, D-III

71550512248, A-IV. B-I. C-III. D-II

71550512249, A-IIL B-1. C-IV, D-II

71550512250, A=-IV. B-II. C-III. D-I

Question Number : 80 Question Id : 7155053851 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

a1 1 Bl 11 G Dy
A1 =

 |GST 3R ST S0 | | RaHeicergta - ursium
8 i e

B. [E3sieH €Y 1. |AlEt; + TiCly

C. [3= 31afId dga® 11D - FRI- 1, 3 - SCISIEA

D [3= Y9d dgdd IV.[BHId + BiHERISS

1< {8 T8 fabedi & 9 I8! SR 1 F:
Options :

71550512247, A-1L, B-IV, C-I. D-III

71550512248, A-IV, B-I. C-III, D-1I

71550512249, A-IIL B-L. C-IV, D-II

71550512250, A-IV, B-II, C-III, D-I



Chemistry Section B

Section Id : 715505234
Section Number : 6

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 715505234
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 81 Question Id : 7155053852 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
1g of a carbonate (M,CO;) on treatment with excess HCI produces 0.01 mol of

CO,. The molar mass of M,CO3is g mol™!. (Nearest integer)
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 81 Question Id : 7155053852 Question Type : SA Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
1g BPIEMT (M,CO;) DI HCl & YR I a1 1 W co, $1 0.01
&al g1 M,CO; BT HICR SogHH ¢ mol™! 81 (FipedH quile)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 82 Question Id : 7155053853 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Sodium metal crystallizes in a body centred cubic lattice with unit cell edge length
of 4 A. The radius of sodium atom is < 1071 A (Nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 82 Question Id : 7155053853 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST U1 4 A DIPH] DR THETE DAY 3ick: Dl5d 4-1g Feid & v 4
fopediiad Bidl o | HifSaH WRATY $I el <1071 A (F@eaq

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 83 Question Id : 7155053854 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The orbital angular momentum of an electron in 3s orbatal is -2— The value of x 1s
(nearest integer) i

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 83 Question Id : 7155053854 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl STaCT &1 3s H&dH T HED DIV FaTl ﬂ%lxﬁrﬂq sl

21

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText



Possible Answers :

10

Question Number : 84 Question Id : 7155053855 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Sea water contains 29.25% NaCl and 19% MgCl, by weight of solution. The

normal boiling point of the sea water 18 °C (Nearest integer)

Assume 100% 1onization for both NaCl and MgCl,

Given : K(H,0) = 0.52 K kg mol™!

Molar mass of NaCl and MgCl, 1s 58.5and 95 g mol™! respectively.
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 84 Question Id : 7155053855 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

YRR Y941 5 & [dea § 29.25% NaCl 3R 19% MeCl, & TH3I o d P

A SYTIS  °C :\Ir-\iqvctdl-l LQLUITW}

o7 wiford féb NaCl 3R MgCl, 100% SHTA-1gd & I & |

&8 T § : Ky (H,0) = 0.52 K kg mol™

NaCl 3{R MgCl, & HITR SouHH $HHT: 58.5 3R 95 g mol™! B

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

10

Question Number : 85 Question Id : 7155053856 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
20 mL of 0.1 M NaOH is added to 50 mL of 0.1 M acetic acid solution. The pH of

the resulting solution 1s x 1072 (Nearest integer)

Given : pKa (CH; COOH) = 4.76
log2=10.30
log 3=0.48

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 85 Question Id : 7155053856 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

0.1 M NaOH & 20 mL @1 0.1 M URIe® 3 & 50 mL faao= & famr s g |

gioTTH! faer &1 pH < 1072 g (Moean yuife)
[T T8 : pKa (CH; COOH) = 4.76

log 2=10.30

log3=0.48

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

10

Question Number : 86 Question Id : 7155053857 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

At 298 K, the standard reduction potential for Cu”" / Cu electrode is 0.34 V.
Given : Kgp Cu(OH), =1 10-20

ey 2.3{;31:'1 J—

The reduction potential at pH = 14 for the above couple is (-)x x 107> V.
The value of x is

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 86 Question Id : 7155053857 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

208 K M0 TR Cu?™ / Cu SIS B HH® 30994 fdHT 0.34 VB
fear T g : K, Cu(OH), = 1 x 107

P
ke 223RT 0,050

SRITd Sie &1 3999 faHd pH = 14 T (x x 102 VB
x T A gl

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 87 Question Id : 7155053858 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A(g) — 2B (g) + C(g) 18 a first order reaction. The initial pressure of the system
was found to be 800 mm Hg which increased to 1600 mm Hg after 10 min. The
total pressure of the system after 30 min will be mm Hg. (Nearest
integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 87 Question Id : 7155053858 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A(g) — 2B (2) + C (¢) T WUH Fife 31 3if¥feear 81 Fom o1 uRfie g™
800 mm Hg YT 51l 10 min §1E1600 mm Hg 81 47| & &1 Fd <4 30 min
G| mm Hg 81T | (Fdean qurfe)

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



10

Question Number : 88 Question Id : 7155053859 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

See the following chemical reaction:

CrO> +X H" +6F2" Y Cr** +6F) +Z H,0
The sum of X, Y and Z 1s

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 88 Question Id : 7155053859 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

SgfeiRaa sif¥ifehar ol <

Cr0> +X H" +6F2* - Y CP" +6F +Z H,0

X, Y AR Z 1T 3l
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If the formula of Borax is Na,B,0, (OH),, - zH,0, thenx +y +z =
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0.400 g of an organic compound (X) gave 0.376 g of AgBr 1 Cartus method for estimation of bromine. % of
bromine in the compound (X) 13
(Given: Molar mass AgBr = 188 g mol™®
Bt =80 g mol™)
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